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Joke: What did the apple say to the orange?

Answer: “Let’s make like a banana and split.”
Question: What did the orange say back to the apple?
Answer: “Sounds like a sweet idea. Let’s do it.”

Question: What did the grape say to the apple and the orange?

Answer: “Perhaps according to Rabbi Meir in Brachos 40a | am Untouchable” & _

Spanish Joke:
Un melon y un calabasa se conocieron en el camino.

“Que Pasa, Calabaza?” Dije el melon.

“Al Melon y Pasadito.” Dije la calabaza.

The Creation Of Man

All Of o"w
(.¥ PITI0) APDY IR DIPW DPw

(OW) P17 X272 221 193AK 7T Reglal

Rabbi Avahu said in Tractate Sanhedrin “In the place where The Ba’alay Te’shuvah stand even the
purely righteous don’t stand.”
Hello to you even if you are far away.

Even if you are as far away as Spain.
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Yo he visto que tu avistamiento es la analogia con la vista de un bebé
| have seen that your sighting is the analogy to the sight of a baby.

WX DU 17319772 TAKIW 1910 TU DU 101 WA ADIK1 WK D012 P197 31001 13K *Un1a 11T 1910 1nd
(:2 7773) 121 X*DOXRA D121 X XD W DI I 7NN DX W oK IR

“even the purely righteous don’t stand.”

>="11"27 qwn®

Greater Or Equal To Moses?

(: wIo) MwNRn MmN .1

(:32 M2IN2) O DWHOW XN N27UA W DX DX °12102° 20271020 Twnn XIDTU XDT .2

1211727 PRON DK KT N PIRA PO IO 112192 7201 0100 1w INXK PRbna nwun 1'n .3
N 950 DPUAIX DX 0P DPU2IX DX P2 22027 1°27 Iwnn N PR 0192 09 0K T XTI
TIXP 7172 PO DK KT N KRR I IR 12192 12200 2380 TP 'K TRYNa Iwun 1w
(.72 M2712) 1% X1 XD XK1 9P 2°N2713°27 Awnn 1N IXpn 0170 9K A1 X

(7P MNY) INX IwN 1 Y'K .4

(:X2 MIWwn wX1) 121 0p 0’2502 0p X2 0°X°213 XK T WD PRI MU X1 0P XA L5

The Only wn
| think this is the only wn in all of 0”w:

(.32 P27m) xu N2 nwn

555

The end of life, right here at the beginning of 0”w.
(.5 Naw) 121 021 DR TPIRT R 210 X171 2927 00 AInDWw INKpT
And concerning that which 15w said that a living dog is better than a dead lion etc. etc.
The beginning of life, right here at the end of 0”w.

AR 1210 T DPILIT 101 1A DX WK DU 12 P19 31 121 1K PUNA 11T T R xSy °11 w1
D2IMIK 1PIR971 121 XPDOXRI DIPM AN XD 1w DX AW NN PR 70K 1TTIKD CwKT 0P8 1711902

DU 17001 IXD7 X2 0DIUT PIRD XAW 11721 121 7P KR R 720 7127 R0 00 10K 217 K 7912 700
(:5 773) MKW 7912 7TNNA P2 0w D

(:5 PY1TR) YA NXwn nnas

Why was man created?
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X721 779X5n DNUS OX X721 1719 Dnub ox U7 P 707 Dnub 07X IXKIY X121 Dnub 0IX 9 TTUDK K
NXIw2 ArPw Snu? X 770 PRud OX U7 PK 7T X021 710 DUk 10K 1 170 1POU FaK 2 TRIK XInw)
(21X PITI0) X721 7N PAuD X 7 PN T AN 190 YR’ XD K

All of a man’s life, and all of 0”w.

Is N2W really the beginning N20nN of 0”W? What about m>721?
(:2% PYrTpR) T9°91 DY T NN 22027 X7 PYT AN PR X 0K T

X2 112712 0TI 1XD X°wp XD DX 2127 101 PR 0 DRw PRwn 22021 AR PR T2 N2 0010 1
(:119-.12 M272) 7272 KD

AR X7 ATTRPRT XIXPD T2 KT UNWN KA 10 wED 128 P8 7120 MK P DRI K A N 10K
(: ©°1108) 1921 °¥1377 DX 7287 72377 777 PURPTX P71 XIp TKT PRy 72 7nm )

So before learning all of 0”1, you have to make a 11272. The 7N becomes yours.

So this is why for this vort | am calling N2w N20n the first 20N in 0”Ww.

555

The X701 in (.7 N2W) says about the letter “5” that it represents the words X277 D105,
(:P 7173) MIMD 01 Pwn 1bwn
P2PIUS DIDNW 72 NINIDA XY JPN XA 01U 2192 IR AT T 000 0K 2P 220
(X2:7 Max °p9)
The idea is let’s say that man’s creation, and his being put into this world are synonymous. Then you can
say he was placed into this 171170 for the purpose of learning 77N as the X701 says in 77110.
The Mega Mega Challenge
I have around 90 to finish all of 0"”w.

U X2 RTR UOWR MR R RpR1 PNUAR 1KY MEAn DX 0P PUARIY 1230 27 0K D71 0K
WX D22WX TRIRT 27 7K 2773 27 K1 PRI R @K P 0w DM ap X XOX X1 210 00 TR
D'"P PXN WA U 790 WA PR KT TR Z2wn XM DX PpPKD 171 9173 773 11 N20n WK T P19
271 DA NP2 PPN UAW NPIR2 PRI 0D *UA KT 1P DR XiT XNPRR 9773 277 1370 XnPUa T o
(.0 o) Phu nwaw P n

The 1”7 has a W17 there that XN»7IXT NNXA that are X770 X°NX, not explicit in the 7N, a 7AW can
be P11 on it. His 1i1’w here is that XXM one is hot 1N 7 XX of 1IN Tn?N with Unw NP alone.

Etc. etc.
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Mega Mega

ym

A Splitting
(3:71 INDX) M2YN X Tu

The Creation Of Woman

UDXA DX DPPX "7 12 P02 107X DT X AR WX 0TXD 12 0 0730 10 1T UK 12 R 1N
(.77 PAPL) 121 237 AR T AIID TAK T DRI 270

D PIIR PWR PRINWY 2277 2. udR 021D NNY D DX AR 021850 307X 0T IR 0T WD
1X27 712P31 1XIN 27 AW D2IWR 1R . MIXID 1 (12 MINY) N2Iwn 1w uhyo

(2:2 PWXT2) 1T ML XY KD DIXD
(:5 P211) 1N v X¥N
What about according to the 7”1 that says 71¥19? Also what about the X72°1 of 27 X 777 17
(.2 7vI0) 1212119595 ° 19D N2 NINIKI NXYP 919 N2 7217 NPY 07RO D°U27IX 27 0K T 10K
Was this not true in the case of NwX771 0IX?
(:2 P2771) 21 021 XPT XIPIUA X XIPT XIPPIUN X X2 0K

So | want to say look at the X7 X111, It says “I7112 T4 X¥n X?”. So | want to say that the 71¥19 71
says 17112. So it could be that 117 was around, but she wasn’t 17212.
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Cracks

"op

There are four definitions for the word *>°® found in 0”w.

(-7 pwa)>a

A Name
(110 o) B
A Vial
(:Mip anw) *>n
Elephants

(:32 Naw)(:7n 1210) >0

Cracks (in skin or in the ground)
ym

A Splitting
What happens when you split P17’ N20nN in half?

724 D127 722 1KY WA PIWK NIX T WU ORI PXM 200 PTI12°KD KXY 07X X 09185 1312710
XU PP KO 222w 7277 7210 728 TAK XOIM TAXIW 7210 727 1780 DX U120 12 1K DAX 77724
(:12-.1 PYITR) 7277 D121 130 TR

It is approximately half way through the N20n. It is also near the half way point in all of 0”w. (that might
be kiddushin 38, but don’t quote me on that (funny | don’t think | ever saw this phrase in writing on a
public post (i.e.”Don’t quote me on that”) whatever).



n”a

NIk QT

DREF B0 INSIESTS

My theory is the S i Ze of the splitting I S Re I ative

“Nice Goin’ Einstein.”

A Splitting

JD 2D XD D LU

XM AKX XI7TD 271 2172 XA 7Y K 27 PRV AXI P TR0 DX A 0 0K L1
I K 2" 1A%uD PR 199 1Ru? Prn 1997 2172 AX0A1 XA AKX 27 2170 APK AX00)
DU XM XIA2 ' 0K INKT XK WA DX PYIL PRV WX DX PYIY PITY 272 10K TX00)
724 XD WX 23T DX XD WK DX XD PRI PR PRAY KT DX PYIY PN 272 12K 7800
(:108 ©°110D) 121 KWILPA N XDT 724 XD 21w X217 17 KT

Can there be an exact split?

D AWLI ANWXT AT DAX NO071°X0 X051 3777357 DOX D071 X0 X0 X307 70K .2
I NAI0 DTP ANWXT P23 0TR 0K TAXP 27 I X PRAK 001 97w 1K 292 uPpw
X7 XK T NN KN KX (127110 1231 .01 U0 DI X AVPRIY D INWRT YWl
MWD M NP 121 TNX 02U RIX 0P NI Mndui PNwa 21121 N

(.2 W)
This 712X5n, it was split. Then again in the X1>12 and with >0 "7 it was split.

DWW PNUT XA 772 K TPRR XA 12 1900717 MINK U3 XNP7A102 7’ 7 19917 X123 X100 .3
PAT 7P XD 1PATT 23 DU AX Par XD 1327 MAKT P2 Ao 1Rk 7P X190 °D2°12 KIX *02)
(:XD MA1N2) 121 7131 X712 0°021 M3 02 NI 3 DA N X°INT
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Let’s split it.

(22 P21L) 110 DX 51087 717°X0 XM UINa AP oxn 4
Split it, and split it again.

PRI PRYA? D11 PX 2K 0K XOX XK D1P1KA2 1279 KT 2K 9K PRYA? D17 PR oY K .5
(.30 D7) PRYMY 127

You can’t split it. Also you can’t split it, and you can’t split it.

D 2B

“Careful” and “When Does This Apply According to 771> 7"

(071, PYITPR) L..A T c 3D aD

(]"?U'\ , PA1PU) PNK AT 1 7AK 1 AD 2D

The Size of the splitting IS Relative

N1 92 X328 29

(P2 PWXI2) 711282 ORI A
Here are two M%7 from &7 92 2P0 27 that are pertaining to a crack in the ground.

X120 1PX XD 1D K X2 XA PRR? XNX PITY 72 UK T P0R XIPKR 120K X L1
XD 71D K IR XD IX IR X1 PN X702 PWRWRRI KNP 232 10K D IPK XD PR
7570 WK 12 0PN X9 I PU2IR KT XUIRD 27T 000 170 K DK PR paw Xp i K
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WIPWR? X210 1M WM XNPTIPDX 7D AKX TAWN 2K 7Y K1 IR T PT0 3pNT 0Ka
K PR0YN NN WRWwRPn Munwn ANwndl unwn NI XN KXW 0 WIpwR) 0702
M 97D PIIN0 TIOX 197K 172K 19K P11AK T 9D PIN0 TN N YRR P10 XA 72 X3p1u 27

(:7n 11010)

Aivu said | was once standing before R’ Elazar bar Tzadok and this certain man came before him,
and said to him: | own villages, | own vineyards, and | own olive trees. During the She’mitta year
the inhabitants of the villages come and hoe the vineyards, and they eat from the olive trees in
payment. Is this practice proper or improper? R’ Elazar bar Tzadok said to him “It is improper.”
The man was leaving him and going on his way. R’ Elazar bar Tzadok said: | have already lived in
this land for forty years, and | have never seen a man to go in the paths of righteousness as this
man does. The man returned and said to R’ Elazar bar Tzadok “What is to be done?” (How shall |
proceed?) He said to him: “ Abandon the olives to the poor, and give perutos from your own
pocket to those hoeing the vineyards.”

But is hoeing permitted during a She’mittah year? But it has been taught in a Braisah, The verse
states: “And on the seventh year, you shall leave it and forsake it” the words “you shall leave it”
means to refrain from hoeing the land, and the words, “And forsake it” means to refrain from
hoeing the land. Rav Ukva var Chama answered this question as follows: there are two hoeings
generally performed around trees. One accomplishes the covering of cracks in the roots, so that
the roots will not dry out, and the other accomplishes the piercing of the ground around the
trees, which makes it soft and loose.Piercing the ground around the trees is forbidden during the
She’mittah year is forbidden, since its purpose is to improve the trees. Covering cracks in the
roots, however, is permitted during the She’mittah year, is permitted, since its purpose is to
preserve the trees from perishing.

TIWY D°P1Y D°URI OW P71 A0 PRpw D'wnn D MUY NI U 101 9200 NUw AT wIpnn .2
DW 1’77 .11 'A% 121 7Y PTTAI IXIN MAD ARy PT7RI 1PK 000 WY 0°Ma3 °U0 IX D110
0 77w X2INMWIR N0 K? T2 102 N XDT P2 XD 201 17wl PDIND W1 1D PPNG DUl
M7 PIn 70 I WPIpnw XOX 0D PR 102 DPw DPwnna DU R0 U 1K 2% 1012 TRk
D°UP12 X277 XA 712 XAPIW 72 0K 01PR 220 77w 012 TN 2pn *¥m 2p0m AX0 NY XM nb
(.712 P271) 7PN UnWw D°UP0T X717 PINPT PNl XTI W7 12 1KDT 000 OPKON

Mishnah: If one consecrates his ancestral field during an era in which the law of Yovel in in force,
when he wishes to redeem the field, he gives the Temple treasury for an area in which a chomer
of barley can be sown fifty silver shekalim. If there were clefts ten tefachim deep there or rocks
ten tefachim high, they are not measured along with the rest of [the field]. If however, the clefts
or rocks were less than [ten tefachim] deep or high, they are measured along with the rest of

[the field]. etc. Gemara etc. If there were clefts ten tefachim deep there etc.. Granted that clefts
ten tefachim deep are viewed as separate from the field, but still, let them become consecrated
as ancestral fields in their own right, and thus be subject to the same fifty-shekel per beis kor
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rate as the rest of the field. What do we accomplish by measuring them separately? And if you
will say since these clefts do not come to a full beis kor, they cannot become consecrated as
ancestral fields subject to the fifty-shekel rate, this can be shown to be untrue, for a Braisah has
taught, “when the verse states: ‘If a man shall consecrate from A Field of his ancestral heritage’
etc. what does it mean to teach by adding this seemingly superfluous expression? for it is stated
later in that verse: an area inwhich a chomer of barley can be sown, for fifty silver shekalim.
From this alone, | would only know that the fifty-shekel per beis kor redemption rate applies
where the owner consecrated his field in this specific way; from where do | know to include in
the fifty-shekel redemption rate even a case where he consecrated a smaller area, such as a
lesech or half a lesech, a se’ah or a tarkav, or half a tarkav? the torah therefore states: if a man
shall consecrate from “a field” - in any case i.e regardless of the fields size.

So the previous question stands; that why are the clefts not measured together with the field?

Mar Ukva Bar Chama said: Here in our Mishna we are dealing with clefts filled with water, which
are not fit for planting. This interpretation is also borne out by a precise reading of the Mishnah
for the Mishnah treats deep clefts as the counterpart of high rocks, implying that the clefts of
which it speaks are those that , like rocks, cannot be cultivated. Learn from this. (Artscroll)

The Size of the splitting I S N Ot Re I ative

(.72 P27L) PP XUIKT T 1R KUIXT 23X 1710 A1 1XON D °2i °X

But if it is so then even clefts or rocks that are less than ten Tefachim also should be excluded from this
Biblical fifty-shekel rate (because there is water in these clefts and the rock protrusions are unsowable as
well)? These smaller clefts are called “basins of the land”, and these smaller rocks are calles “spines of
the land”. (So because of their smaller size they are considered subordinate to the land and are included
in the biblical rate.)
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IR0
A Splitting

X1
Here are two 0°1>7 we learned having two do with TUnw j2 7O *1’s that live in the same city.

P2 W0 2XA AT X P2 W XA XDT X TI0R R DX WP XD AT X b and L1
(:72 P©3) ©INX DU 217 MW PROXIN NNX U2 P NUAY 2 0P 23w NIRIK NXT X2 0RK

AN PAT 723121 121 PIIND XD OX1 1IN PP XPW TU 1IN OX NIX TPRN 211 D°0YR D2aM AR nn .2
XDX °0219 17172 TTAUNY X XM PIYD 1991 2 PRA AR X 0P DWW INKRD NPT XK DK
PR KT 2230 D19 01 1p5m KD 2D D 1 R 2230 DIKT PPN 20 XIW XN O DYWOW N2 PR
77w 1MPP NAX U2 PAW YA 12 O 1w NIRIK NXT PR 227 TAK 710701 KT 220 D)
712M2 K KIPOW X T XNIA XIPPON T K TPY KT 0 AKX 7213 210 YU nomwa
(.M MM22) X1 P Xp 7127 XNIA XIPPON

If the father died and the sons are alive, R’ Meir says: If they gave a Koehn five selaim before
they divided the estate they have given, l.e. what they gave is rightfully given. but if not i.e. if
they did not give the five selaim before dividing the estate, they are exempt etc. Gemara : When
did the father die? if you say he died after thirty days from the birth,

A 7 by a divorce teaches us something in 1’2’1 ’0n, and we learn a 21717 243 can collect half of the
partners estate in M2 ‘on. If you split 71 77 in half, you get 72 77.

Thou Shalt Eat
(P23 PWXT2) MIYOKN NIXL

Theoretical origins of the word “digest”.
| want to suggest the English word “digest” might come from the greek words “1>7” which means two

(./P pa1n)

and the word “X100)” as "1 says in X T4 X2 P2

X0 P DI 1P 127 90
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Mangez
(T:2 Pwx2) PaXN DX 13 Y Don
X277 °20°U [PPIX KT A0 10000 XD PIW AWK 11700 DX IPTWR PP 12 Puny 1K

(.rp o’rion)

22 77732 AYaX
Eighty split makes forty and forty
(.5 MAIN2) °XN T2 717 129X KD
(zm PYTR) 2925 1T PIwa PR

(-1 11272) ATILO AKX P TNY PR TTU0 92

555

(.5 P2711) 19102 MR IR PRYAY DRI KD
And one may not redeem a field by halves, but in the case of a consecrated field one is permitted to do

all these things to redeem it. (Artscroll)

(P2:X PPwXI2) 127 1D

A2 223D
Feed The Children

(.22 27u) 112 N92IX 27 12 0OX XOX D’ °0217 PRRIIPXPOX 10X AT 1 INK

MNP IOW N 119 XY ALK XA TTTOPIPNT D 77K 27222 PIKR I XINN 12 XIX 277 X0
(.22 P217°u) XNAX2

(32 P27L) PPWHI TAVWN NIV 77172 7237 XX X°K PUK)
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Carrying A Fruit

bRl v

(T9:2 Pwx2) HaxN YaX 130 vu Hon

N DIWAW U7 1K 0N TAKIY BN D°Iw3A 0N MK AR 219wKD 2wnn nx Xon.am 1
TR PIWNK KW TR T KT 2I0TNYT 21001 100 P1X 207 X M °31w] 0°3w3 pia|Pieiiaplel
XOW XX MPU2 °K12WT DR XK NP4 °K 0192 IXWI X 2921 DU KD X3 K 7 K3

(.7% 7WID) FIXY NN P
(1% 71%°2) 121021 NAWA XD PAX ©"PA AR TIT M Pwn .2
D71 AX 7K1 DWR TN 1112 90K 1902 D I0TNK N0IDN N2 X2w X2°PU °272 Awun or 'K XN .3

(1% 7110) T T PR 1P 1IN

202D
PPPI PN POK 1NN
(>:3 PWXI2) XIAMXT 221X 07U *2 XX 133 PNUAY 729 DX 0K
(:32 ©°7173) DX PPOXD PRPT PR POX T INK

(.22 21u) 112 921X 27 1P 0OX XOX D710’ °D217 PRRIIPXPOX 10X AT 1 NK

(M2:X MPWKI2) AW PIRT DX INOR

P

121D

>10% 091U 2w PNPK TN 1 NNX1 70N D’P'?N 199 0910 2w” >0 12 X271 W72 0P 1200 X2pu "
()2 P217PL) TIIXY 72 NNAXKY TOMW 112 D’P‘?N

511 °0PX 107N 27 AKX T AR 712 270K 27 K KD X0 779 XTI 2 TUeK 5w N9
(:71 NAW) XNWA XNW 92 77707 778 12 79K 037 wun i
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So you see that 77”771 12 TUPX "7 was an Wl

X2PU X *12p 222 XAME% PITAK XPU 1 DIK AP0 WK TWUn I A UK 1D pw minT XNe X
(19 MN2’) 1 XINT 2PN

Was X2°pU "1 being 71271 the 7’ in this case?

7210

Permitting Usage In A Field And 17™7° 72 X1 "9

DX T2 WP TN 10 7P DX TAIX XD 12 PURY 127 X307 HR0ON 13 nunw 1270 XoT poann. .1
(:39 72711) X350 TU DWW 27 TAX AT 72 X1 27 70K 710 TU 33T A0 10K KD

Our Mishnah does not accord with the opinion of Rabban Shimon Ben Gamliel. For it was taught
in a Braisah: Rabban Shimon Ben Gamliel says If the amount of his debt was less than or equal to
the value of what he consecrated, he may redeem the consecrated property for a nominal
amount; but if not, i.e. if the amount of the debt exceeds the value of the consecrated property,
he may not redeem it for a nominal amount. And according to the Rabbis of our Mishnah who
dispute Rabban Shimon Ben Gamliel, by up to how much may the value of the property fall short
of the amount of the debt, in order for the law of nominal redemption to apply? Rav Huna Bar
Yehuda said in the name of Rav Sheishess: By up to half.

°D DU AKX TAX AN 271 MXDIVEX PIZUY XM 272K X A7 0K 001 02 X077 uel .2
NP1 MXDIVYX 7720 XDT 7302 17307 77 12 X0 11020 UOPK AN 0 MXDI0EX IV PRY
(.72 P217°4) D XP20 1AM 2712 XIX 7PD 1K 2AKT X2 77 712 720 X2 17D K71 hubun

Rav Huna Bar Yehuda answered [Rabbi Yehuda] : | agree with the opinion of Rav Nachman who permits
carrying in this type of Karpaf on Shabos (i.e. most of it was planted but the trees were not planted in
rows).
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The Quality Clothing of Man
(123 PWXT2) N3N 072 WL TIXD 724 19901 07 0N °2 W OiPIw 22U TInpan)

(X2:3 PWXI2) DW2AR1 U NN INWKD DIXD PPYX T WL

Perhaps one might say that the quality of the clothing that G-d made for 07X was better than the other
clothing that 07X made for himself. A common clothing material in Talmudic times was linen. Here are
statements from the Talmud regarding linens of various qualities.

2w DX 072D MW 12197 °902 WnRNE?) NS 0P WA 1TARD AT MUn Pax 12 Iy n a1 nK
(79 P2IM) XNPA XIN°22 1w °92 w1 ing

il 7al)

XIX XN *17° 7070 779 X°0anT [KAlK ]’ﬂ'?ﬂ D2 TN XX TN ]ZIT"? XMP1M°D 21727 °2 12 X707 1K)
(:apP NAW) NXI XMN°2 XN’ °XN X27Y

(1U:J ﬂ’WNW:) DY 12X
A few M2%71 with a 71:

72 77 °KIN XD 7172 INXTR X X327 70K 121 XINOXT XA XYY X203 XN227 PRy’ 12 7Am 1 nk .1
(.710 PAIPL) AP T2 T PeK P XT2U X127

Rav Nachman Bar Yitzchak said “The rendering of a halachik decision requires the clarity of a day of the
north wind. Etc. Etc. Rava said if | was bitten by a louse, | could not learn (with the necessary
concentration). The mother of Mar son of Ravina made him seven sets of clothing, (one for each of the
seven days of the week, in order to prevent lice).

210p 1PNI37 1AM 27102 K XRT XIPD 0P Tw X270 Bpn DWW 20 Bupn 121 .2
(.2’ N2Ww) "M XOp °D 1unwXl
The Gemara records how various Amoraim would deal with lice on the Sabbath: (These amoraim follow
Beis Hillel’s view that it is permitted to kill lice on the Sabbath (see Tosfos)(Artscroll Note 35)
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Rabbah would kill them. And Rav Sheishess would kill them. Rava would throw them into a bucket of
water (Rava chose not to kill them directly [e.g. by crushing them] because that is repulsive (Hagahos Rav
Moshe Horowitz)(Artscroll note 36). Rav Nachman said to his daughters: “Kill the lice and let me hear the
sound of my enemies as they die! (Rav Nachman wished to stress that the halacha follows Beis Hillel,
who permit killing lice even in the most direct fashion (Artscroll Note 37)

An Image of a Flea

“Adam, Had 'em”

The shortest poem ever written, composed by American poet
Strickland Gillilan (also attributed to Ogden Nash) in the early 20th
century, reads, “Adam, Had 'em”. Bubonic Plague) the flea (Xenopsylla
cheopis) has contributed, over the centuries, to the death of millions
of people throughout the world. (Corky’s pest)

(:5 77)(:% PYITR) P NXWO MND? TAKIY 55

A Uniting

Y

N

. | I

5 P217°U) DN TAX 10 PRXY 73 703 1 IAK TR 0703 278N X1 720w 20 K
MmN 7213 Nriwn1 °pPa v nh Ao 27 °7p 2P0 AT "wR

Thanks for the compliment. You as well.

(:'? °274) *1’02 °KIP 117 AN 27APWIT 0P 1 INK 11 P’ 72 1 N
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X5

(M2:X MPWKI2) AW PIRT DX INOR

An Escorting

72 MNnNw 12271 127 7NN XOX 12NN DTX 0D’ DX XIX 72 PR T 712 X0 T 7727270 XD 1

XTI PP K ONAY XM 3 5237 XY 03 70 X D190 WK 120w 279 9K X303 277 K00 71700
790K T XPIM 12 °0P "7 XN2N INTTXR DK XNWA T WX TR IR 127 XK 23T WK IR
1S XOX W7 X 72U XDT IMRA 7 OW 0K 2 X1 K 113 728 XD WK I NI RN KA 12000
27 72w N1 XD W WX 0K POU 1 KW PIX D91 72w D w0 0IX PR I pak 9o 7o

(.X5 M1272) XT7°2 78 72 0K 9233 T RN WX 720w 279 19K 207N

Re-Attached

(X Y22 onbwI) Y 2 K A0 T2 BNINESM 120 w1PN2 1m0m 1N Pua Xax Tavxne. .1
(1 719571 29 pwra mabn 0"anT) npann m- .2

I mean in this that he as they say, “snapped”, and continuing the analogy, | would say he got
“re-attached”.

(P92IX > M2 "7 ;P 0’17 N190INA X21M) XNDoN .3
P2 XTI X XOW 727 DA 1K YU T 072 09w 0N 10 PRI 09 OKYN 1w DIXP W OX - .4
("2 7Puo Nop 12°0 N™MX) 0707 712’ N2w3 190K 0w
XDT K 77020 W X XOWR XD 712712 P20 PR XN XM 112719 2700 00°P2 717190 XTOM 1 NK .5
(.XD P211°Y) 7N WP
6. | putthese two X70)'s to add 0’71 to the list of the re-attached.
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719 1 WX DX N7 N0 N0 X2 IPKT MUK DK ORN D 0OWK TP X277 702 XOX 19K
(AP NAW) N 719 NPX WK NXNPPYX 72187 01 T INu

DO X271 2°N2 2P 1’2 DU 110031 DiPP4 3 M1 1XIY N0 DRI 07713 0°wp 1250 1 1K
(:u PLNTR) NNDOYI NXW? 0N 22N

(72-30 PwXN2) SN w25 P INwK2 PATNINK NXY PAXR NX WX T8 12 DU NNT TH'IP'? XN 2 .6

S nwNpn DX I

(72:2 PwXI2) TN w2% P

A Uniting

12713

The 0N 1N 117, a XNUNW and an XNTIX.
(.2 omop) oM AN ar
(:12 ﬂ5’l?3) 121 D7 N27IKA 1722 X712 1 DK PTRbn 19Kw

D9IUN 1712 AKX D27 NITIXT 772 X719 1 DX PTRYN 1KY (212 A7) 719207 X1N2 P92 KT KT M S un
(73 AL 1 0 73"7 01N) 10 KNT3 XM KT W0 0720 0IK CIRTR KD

If you forget where is this M201N in 12174 just think of the >3 of 12 plus the X*1°) of 12 equals
1.
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Some D’XIN who’s names appear less often in 0”w:
(:12 710)(:12 MAIND) AXPIT 12 777137
(:12 PIPL) (212 XN X322) 13 1372

(:127°13)(:12 MIN°712) 121121 1PN 1277P2 KX IPKY XY X177 112792 11279 1'0T

Finishing Off With A 11257 727

(.N’? mM272) 17371217 72 PNNRw

1212
Two 712571 °poR from MmpoIN

(13?79 °n1 11¥°121 120 °0P °271 1T 'O .12 1P27L) WD MW YT Y23 T AN L1

Perhaps the average price today for an egg is 18 cents (average worldwide. In the U.S. it is 30
cents).
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